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Finding Intercepts of a Graph™

Selling Balloons

Objectives

In this lesson,
you wilt: X

SCENARIQO Your local community group wants to raise moriey
to fix one of the playgrounds in your area. Your group decides to sell
ballcons because they are popular with young children,

& Interprat the meanin
intercepts in a problem
situation.

B Find intercepts

g of

graphically.
B Find intercepts

algebraically.

Key Terms

B x-intercept
B y-intercept

Recall from Lesson 1.2 that
the profit is the amount of
maney that you have |eft
after you subtraci the costs
from the amount of money
that you make.

_ 1. Use your equation to find the value of y when x is 7. Showall
your work and use a complete sentence in your answer.

Use your squation to find the value of y when x is —8. Show all
your work and use a complete sentence in your answer.
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Does an x-value of -9 make serise in the prob!em sttuatlon? —
Use complete sentences to explain.

Use your equation to find the value of y when x is 25. Show all
your work and use a complats senterice in your answer.

Use your equatlon to fmd the value ofx when y is 10. Show all
your work and use a complete sentence in your answer.

Use your equation to find the value of x when y is —16." Show all
your work and use a complete sentence in your answer.

Use your equation fo find the value of x when y is <10, Show alt
your work and use a complete sentence in your answer.

. Write the ordered pairs that you created in Quastion 2.
. Write three more sets of ordered pairs that satisty your equation.

. Use the grid on the next page to graph the o'rdered pairs

Balloons sold -5 10 1

Profit ~16 14 2
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B. Use complete sentences to explain what a point on your graph
represents in the problem situation,

7. Name the point where your graph crosses the x-axis, What
does this peint tell you about the relationship between the profit
and the number of balloons sold? Use complete sentences in
yOur answer.

Name the point where your graph crosses the y-axis. What
does this point telf you about the relationship between the profit

- and the number of balloons sold? -Use complete sentences in -
your answer.
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‘8. Just the Math: Intercepts "In Question 7, you found
the infercepts of the graph. The x-intercept of a graph is the
x-coordinate of the point where the graph crosses the x-axis.
The y-intercept of a graph is the y-coordinate of the peint where
the graph crosses the y-axis. Name the x- and y-intercepts

of the graph in Question 5. Use a complete sentence in

your answer.

Find the x- and y-intercepts of each graph below.
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9._What do you notice about a point that contains the x-intercept? §
What do you notice about a point that contains the y-imtercept? §
: o
Use complete sentences in your answer. o
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10. Just the Math: Finding Intercepts Algebraically If —-

you know the equation of a graph, you can algebraically find the
intercepts. To algebraically find the x-intercept, find the value of
x when y is 0. For instance, the x-intercept of the graph of

y = 2x + 4 iz -2 because:

0=2x+4 Substitute 0 for .
—4 = 2x Subtract 4 from each side.
—2=x Divide each side by 2,

To algebraically find the y-intercept, find the value of y when
xis 0. For instance, the y-intercept of the graph ofy =2x + 4
is 4 because: ' '

y=2{0) + 4 Substitute 0 for x.
=0+4 Multiply.
=4 Addl.

Algebraicaily find the intercepts of the graph of the eguation.
Show all your work. Then graph the equation to check
your answer.

y=3x—-9
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11. Use what you know about x-intercepts and y-interoepts to

complete each staterment.

In the ordered pair (6, 0} the Is the x-intercept.

In the ordered pair (0, -5) the _isthe y-imtercept.

A vertical line that does not lie on an axis has oné -

and no

A horizontal line that does not lie on an axis has one
and no )

A straight line that is neither vertical not herizontal has
x-intarcapt(s) and y-intercept(s).
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